SOME SOLUTIONS FOR AN EQUATION OF ORDER OF 4p

Abdullah Altın* and Ayşegül Erençin**

*Ankara University

Faculty of Sciences

Department of Mathematics

Oction to do not a more Besevler,06100, Ankara, Turkeys sobuloni (1.1) more uniformatic trade to consider the more party altinescience. ankara, edu, trade to conseque to conseque to conseque the consequence of t

**Abant Izzet Baysal University
Faculty of Arts and Sciences
Department of Mathematics
14280, Bolu, Turkey
aerencin@ibu.edu.tr

Abstract- We obtain all solutions which depend only on r for a singular partial differential equation of order 4p. Here, the operator includes Laplacian and GASPT (Generalized Axially Symmetric Potential Theory) operator.

Keywords- Singular equation, Solution of type r^m, Laplacian, GASPT operator.

Section are a maintained to a series of the figure of the area of the figure of the fi

1. INTRODUCTION

This paper consists of solutions of type r^m for the linear partial differential equation of order of 4p

$$L^{p}(u) = 0 (1.1)$$

the results before thing through about a sit frought assisting

where p is a positive integer and the singular operator L is defined by

$$L = r^{2} \sum_{i=1}^{n} \left\{ \frac{\lambda a_{i}^{6} r^{2}}{\left(x_{i} - x_{i}^{0}\right)^{2}} \frac{\partial^{4}}{\partial x_{i}^{4}} + \left[\frac{\mu a_{i}^{4}}{x_{i} - x_{i}^{0}} - \frac{\lambda a_{i}^{6} r^{2}}{\left(x_{i} - x_{i}^{0}\right)^{3}} \right] \frac{\partial^{3}}{\partial x_{i}^{3}} \right\}$$

$$+ \sum_{i=1}^{n} \left(a_{i}^{2} \frac{\partial^{2}}{\partial x_{i}^{2}} + \frac{\alpha_{i}}{x_{i} - x_{i}^{0}} \frac{\partial}{\partial x_{i}} \right) + \frac{\gamma}{r^{2}}$$
(1.2)

The iterated operators L^p are defined by the relations

$$L^{k+1}(u) = L[L^k(u)]; k = 1,...,p-1$$

In (1.2) x_i^0 , $a_i \neq 0$ (i=1,...,n) are real constants and λ , μ , γ , α_i (i=1,...,n) are any real parameters and r is given by

$$r = \left[\sum_{i=1}^{n} \left(\frac{x_{i} - x_{i}^{0}}{a_{i}}\right)^{2}\right]^{\frac{1}{2}}, \qquad r > 0$$
 (1.3)

Equation (1.1) includes some well-known classical equations such as the Laplace equation, GASPT equation and their iterated forms. Many authors studied these equations in solving some physical problems [1-5].

2. SOLUTIONS OF TYPE rm

Firstly, we will give the following lemma.

Lemma 2.1 Let p be a positive integer and m be a real or complex parameter. Then

where $\Phi(m)$ is a fourth degree polynomial given by

$$\begin{split} \Phi(m) &= \lambda m^4 + \left(5\lambda n - 12\lambda + \mu\right)m^3 + \left(44\lambda - 30\lambda n + 3n\mu - 6\mu + 1\right)m^2 \\ &\quad + \left(40\lambda n - 48\lambda - 6n\mu + 8\mu + n - 2 + \rho\right)m + \gamma \end{split} \tag{2.2}$$
 with
$$\rho = \sum_{i=1}^n \frac{\alpha_i}{a^2} \ .$$

Proof. From the definitions of L and r for any real or complex parameter m, we have

$$L(r^{m}) = [\lambda m^{4} + (5\lambda n - 12\lambda + \mu)m^{3} + (44\lambda - 30\lambda n + 3n\mu - 6\mu + 1)m^{2} + (40\lambda n - 48\lambda - 6n\mu + 8\mu + n - 2 + \rho)m + \gamma]r^{m-2}$$

$$= \Phi(m)r^{m-2}$$
(2.3)

Applying the operator L consecutively p-1 times on both sides of (2.3), we obtain the formula (2.1).

Now consider the formula (2.1) and write the algebraic polynomial equation

$$\prod_{k=0}^{p-1} \Phi(m-2k) = 0$$
 (2.4)

which is degree of 4p. The number of real or complex roots of the equation (2.4) is 4p for $\lambda \neq 0$.

Now using Lemma 2.1, we can prove the following theorem.

Theorem 2.1 Let the algebraic polynomial equation (2.4) have distinct roots $c_1, c_2, ..., c_M$ each having multiplicity $\xi_1, \xi_2, ..., \xi_M$, respectively, and all of the roots be real. Then the solution of type r^m for the equation (1.1) is given by the formula

$$u(r) = \sum_{j=1}^{M} \sum_{v=0}^{\xi_{j}-1} A_{jv} r^{c_{j}} (\ln r)^{v}$$
(2.5)

where A_{jv} are arbitrary constants.

Proof. According to the hypothesis we can write the algebraic equation (2.4) as

$$\lambda^{p} \prod_{j=1}^{M} \left(m - c_{j} \right)^{\xi_{j}} = 0$$

where $\sum_{j=1}^{M} \xi_j = 4p$ is degree of (2.4). Therefore, the formula (2.1) can be written as

$$L^{p}(r^{m}) = \lambda^{p} \prod_{j=1}^{M} (m - c_{j})^{\xi_{j}} r^{m-2p}$$
(2.6)

On the other hand, truth of the following equalities can be showed easily by induction.

$$\frac{\partial^{k}}{\partial m^{k}} \left[L^{p} \left(\mathbf{r}^{m} \right) \right] = L^{p} \left(\frac{\partial^{k} \mathbf{r}^{m}}{\partial m^{k}} \right) = L^{p} \left[\mathbf{r}^{m} (\ln \mathbf{r})^{k} \right], k \in \mathbb{N}$$
 (2.7)

Now again consider (2.6). It is obvious that the right-hand side of (2.6) has the factors $\left(m-c_{j}\right)^{\xi_{j}}$; j=1,...,M which vanish for $m=c_{j}$; j=1,...,M together with its derivatives with respect to m

$$\frac{d^{\upsilon}}{dm^{\upsilon}} (m - c_j)^{\xi_j}; \quad \upsilon = 1, ..., \xi_j - 1, \quad j = 1, ..., M.$$

Thus, the functions r^{c_j} for j=1,...,M and from (2.7) each of the functions

$$\left. \frac{\partial^{\upsilon} r^{m}}{\partial m^{\upsilon}} \right|_{m=c_{j}} = r^{c_{j}} (\ln r)^{\upsilon}; \quad \upsilon = 1, \dots, \xi_{j} - 1, \ j = 1, \dots, M$$

satisfy the equation (1.1). Since the given equation is linear, by the superposition principle the sum

$$u(r) = \sum_{j=1}^{M} \sum_{\nu=0}^{\xi_j - 1} A_{j\nu} r^{c_j} (\ln r)^{\nu}$$

also satisfies (1.1). Thus, the theorem is proved.

Theorem 2.2 Let the algebraic polynomial equation (2.4) have distinct roots $\alpha_1 \pm i\beta_1$, $\alpha_2 \pm i\beta_2$;..., $\alpha_N \pm i\beta_N$ each having multiplicity τ_1 , τ_2 ,..., τ_N , respectively, and all of the roots be complex. Then the solution of type r^m for equation (1.1) is given by the formula

$$u(r) = \sum_{s=1}^{N} \sum_{q=0}^{\tau_s - 1} r^{\alpha_s} (\ln r)^q \left[B_{sq} \cos(\beta_s \ln r) + C_{sq} \sin(\beta_s \ln r) \right]$$
 (2.8)

where B_{sq} ve C_{sq} are arbitrary constants.

Proof. Similar to Theorem 2.1, we can write (2.1) as

$$L^{p}(r^{m}) = \lambda^{p} \prod_{s=1}^{N} (m^{2} - 2\alpha_{s}m + \alpha_{s}^{2} + \beta_{s}^{2})^{\tau_{s}} r^{m-2p}$$
 (2.9)

where $2\sum_{s=1}^{N} \tau_s = 4p$. The factors

$$\left(m^2-2\alpha_s m+\alpha_s^2+\beta_s^2\right)^{\tau_s}=\left[m-\left(\alpha_s+i\beta_s\right)\right]^{\tau_s}\left[m-\left(\alpha_s-i\beta_s\right)\right]^{\tau_s}; s=1,...,N$$

which are on the right-hand side of (2.9) and the following derivatives of these factors

$$\frac{d^{q}}{dm^{q}} \left[m - (\alpha_{s} \pm i\beta_{s}) \right]^{\tau_{s}}; q = 1,...,\tau_{s} - 1, \quad s = 1,...,N$$

are zero for $m=\alpha_s\pm i\beta_s$. Therefore, for s=1 ,...,N each of the functions $r^{\alpha_s\pm i\beta_s}$ and , from (2.7) and the following expression

$$r^{\alpha_s\pm i\beta_s}=r^{\alpha_s}r^{\pm i\beta_s}=r^{\alpha_s}e^{\pm i\beta_s\ln r}=r^{\alpha_s}\Big[cos\Big(\beta_s\ln r\Big)\pm i\sin\Big(\beta_s\ln r\Big)\Big]$$

for $q = 1,...,\tau_s - 1$, s = 1,...,N each of the functions

$$\left. \frac{\partial^q r^m}{\partial m^q} \right|_{m = \alpha_s \pm i\beta_s} = r^{\alpha_s \pm i\beta_s} (\ln r)^q = r^{\alpha_s} (\ln r)^q \left[\cos \beta_s (\ln r) \pm i \sin \beta_s (\ln r) \right]$$

satisfy the equation (1.1). Since the given equation is linear, by the superposition principle the sum (2.8) also satisfies (1.1).

Now, we can give the following theorem which is a result of the Theorem 2.1 and Theorem 2.2. Proof of the theorem is similar to the previous theorems.

Theorem 2.3 Let the algebraic polynomial equation (2.4) have distinct real roots $c_1, c_2, ..., c_M$, each having multiplicity $\xi_1, \xi_2, ..., \xi_M$, respectively, and distinct complex roots $\alpha_1 \pm i\beta_1, \alpha_2 \pm i\beta_2; ..., \alpha_N \pm i\beta_N$, each having multiplicity $\tau_1, \tau_2, ..., \tau_N$, respectively. Then the solutions of type r^m for equation (1.1) is given by the formula

$$u(r) = \sum_{j=1}^{M} \sum_{\upsilon=0}^{\xi_{j}-1} A_{j\upsilon} r^{c_{j}} (\ln r)^{\upsilon} + \sum_{s=1}^{N} \sum_{q=0}^{\tau_{s}-1} r^{\alpha_{s}} (\ln r)^{q} \left[B_{sq} \cos(\beta_{s} \ln r) + C_{sq} \sin(\beta_{s} \ln r) \right]$$
 (2.10)

where $A_{j\upsilon},~B_{sq}$ ve C_{sq} are arbitrary constants.

Example 2.1 Consider the following operator L

$$L = r^{4} \left[\frac{1}{(x+1)^{2}} \frac{\partial^{4}}{\partial x^{4}} + \frac{64}{(y-3)^{2}} \frac{\partial^{4}}{\partial y^{4}} - \frac{1}{(x+1)^{3}} \frac{\partial^{3}}{\partial x^{3}} - \frac{64}{(y-3)^{3}} \frac{\partial^{3}}{\partial y^{3}} \right]$$

$$+ \frac{\partial^{2}}{\partial x^{2}} + 4 \frac{\partial^{2}}{\partial y^{2}} + \frac{2}{x+1} \frac{\partial}{\partial x} - \frac{8}{y-3} \frac{\partial}{\partial y} - \frac{16}{r^{2}}$$
(2.11)

where
$$r^2 = (x+1)^2 + \frac{(y-3)^2}{4}$$
. And $r^2 = \frac{y^2}{\xi_{12}} + (y+3) - y(\xi_1) + \frac{y^2}{\xi_{12}} + (y+3) - y(\xi_1) + \frac{y^2}{\xi_{12}} + y(\xi_1) + y(\xi_1) + \frac{y^2}{\xi_{12}} + y(\xi_1) +$

Now, we obtain solution of type r^m for equation $L^2(u) = 0$. If we substitute $\lambda = 1$, $\mu = 0$, $a_1 = 1$, $a_2 = -2$, $\alpha_1 = 2$, $\alpha_2 = -8$, $\gamma = -16$, $x_1^0 = -1$, $x_2^0 = 3$ which are the parameter values in the operator (2.11) in (2.2), we then find

$$\phi(m) = m^4 - 2m^3 - 15m^2 + 32m - 16$$

$$= (m+4)(m-1)^2(m-4)$$

ad til North Sire a

$$L^{2}(r^{m}) = \phi(m)\phi(m-2)r^{m-4}$$

$$= \{(m+4)(m+2)(m-1)^{2}(m-3)^{2}(m-4)(m-6)\}r^{m-4}$$

Therefore, algebraic polynomial equation is

$$(m+4)(m+2)(m-1)^2(m-3)^2(m-4)(m-6) = 0$$

From this equation we obtain $c_1 = 6$, $c_2 = 4$, $c_3 = 3$, $c_4 = 1$, $c_5 = -2$, $c_6 = -4$, $\xi_1 = 1$, $\xi_2 = 1$, $\xi_3 = 2$, $\xi_4 = 2$, $\xi_5 = 1$, $\xi_6 = 1$. If these values are substituted in (2.5) we then have

$$u(r) = \sum_{j=1}^{6} \sum_{\nu=0}^{\xi_{j}-1} A_{j\nu} r^{c_{j}} (\ln r)^{\nu} = A_{10} r^{6} + A_{20} r^{4} + A_{30} r^{3} + A_{31} r^{3} (\ln r)$$

$$+ A_{40} r + A_{41} r (\ln r) + A_{50} r^{-2} + A_{60} r^{-4}$$

solution of type r^m for $L^2(u) = 0$.

3. SOLUTIONS OF TYPE u = u(r)

In this section, we will show that all solutions which depend only on r for the equation (1.1) can be expressed by formula (2.10).

Theorem 3.1 All solutions of type u = u(r) for equation (1.1) can be expressed by the formula (2.10).

Proof. Consider the operator (1.2). Applying the operator L to the function u = u(r), we obtain

$$L(u) = \lambda r^{2} \frac{d^{4}u}{dr^{4}} + (5\lambda n - 6\lambda + \mu)r \frac{d^{3}u}{dr^{3}} + (15\lambda - 15\lambda n + 3\mu n - 3\mu + 1) \frac{d^{2}u}{dr^{2}} + (15\lambda n - 15\lambda + 3\mu - 3\mu n + n - 1 + \rho)r^{-1} \frac{du}{dr} + \frac{\gamma u}{r^{2}}$$
(3.1)

Since the above operator is an Euler type operator, if we set $r = e^t$ and $D = \frac{d}{dt}$, then we have

$$L(u) = L(D)u = e^{-2t} \left[\lambda D^4 + (5\lambda n - 12\lambda + \mu)D^3 + (44\lambda - 30\lambda n + 3\mu n - 6\mu + 1)D^2 + (40\lambda n - 48\lambda + 8\mu - 6\mu n + n - 2 + \rho)D + \gamma \right]u$$

$$= e^{-2t} \Phi(D)u$$
(3.2)

Applying the operator L on both sides of (3.2), we find

$$L^{2}(u) = L^{2}(D)u = L(D)\{e^{-2t}\Phi(D)u\} = e^{-2t}\Phi(D)\{e^{-2t}\Phi(D)u\}$$
(3.3)

From ordinary differential equations, we know that, for any polynomials of the operator D with constant coefficients G and H and for a constant α , the following relation is valid [1].

$$G(D)\left\{e^{-\alpha t}H(D)u\right\} = e^{-\alpha t}G(D-\alpha)H(D)u$$

Considering this property, (3.3) can be written as

$$L^{2}(u) = L^{2}(D)u = e^{-2t}\Phi(D)\left\{e^{-2t}\Phi(D)u\right\}$$
$$= e^{-4t}\Phi(D-2)\Phi(D)u$$
(3.4)

We remark that the product of $\Phi(D-2)$ and $\Phi(D)$ is commutative. Applying the operator L repeatedly p-2 times on both sides of (3.4), then we obtain

$$L^{p}(u) = e^{-2pt} \prod_{k=0}^{p-1} \Phi(D - 2k)u$$
 (3.5)

Equating the expression (3.5) to zero, we obtain an ordinary differential equation with constant coefficients and of order 4p. The indical equation for this equation is

$$\prod_{k=0}^{p-1} \Phi(m-2k) = 0$$

This was obtained previously on the right-hand side of (2.1). It is obvious that the corresponding solution for this equation is given by (2.10).

We note that, if we substitute $u=r^m$ in (3.5) then, by considering $r^m=e^{mt}$ and $e^{-2pt}=r^{-2p}$ and $\prod_{k=0}^{p-1}\Phi(D-2k)e^{mt}=e^{mt}\prod_{k=0}^{p-1}\Phi(m-2k)$, we see that (3.5) reduces to (2.1).

REFERENCES

- 1. A. Altın, Solution of Type r^m for a Class of Singular Equations, International Journal of Mathematics and Mathematical Sciences 5; 613-619, 1982.
- 2. A. Altın, Radial Type Solutions for a Class of Third Order Equations and Their Iterates, Mathematica Slovaca 49, 183-187, 1999.
- 3. A. Weinstein, Generalized Axially Symmetric Potential Theory, Bulletin of American Mathematical Society 59; 20-38, 1953.

- 4. A. Weinstein, On a Class of Partial Differential Equations of Even Order, Annali di Mat. 39; 245-254, 1955.
- 5. L.E. Payne, Representation Formulas for Solution of a Class of Partial Differential Equations, Journal of Mathematics and Physics 38; 145-149, 1959.

and the complete of the second of the second of the complete second of the complete second of the complete second of the second

entrance was a little of particle of the control of

W. 17 (1997年) 1997年 - 1997年 -

outhangaile Agus ou chaideach ainm i de Malykoor, an de Xoord Debreta, an de lan lear lear an an an an an an a Genetro enword of Asia olid konad en an an annad linea y a liabhgaile an an an an

and a managa a distribution grant por la laboration de la valada (e. 1911), a maior de la ción y la vertific La maior de la valada de la vertificación de la vertifica

Fire and commendative in the fire against the agent and the except of the extension of the end of the extension of the extens

than the processing of more (C. 1) by the continuous section who was

2015年2月日196日日本新

- De tradition of the selection of Figure 1971, and it is been transplant in qualitation of the selection of the American Community and American Selection (and Selection Selectio
- 2. v. Johns, Redini Type Schenera, for a 173-c. of Tajed observ Agganions and Joseph Journal, Matter Code, Filteracia 49, 1817-13 (1999)
- bi di Mic decular, Giudandaned di viadiy. Ge<mark>namani</mark> c P**otenta**s in leto ye, dulikina of Amerikoun. Ali di decelori di kucany 1981 di Sacradaka.